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Running dictation – modals:

	1.
	Sarah couldn´t go swimming on Saturday because she went to her grandparents´.

	2.
	I didn´t have to revise for the exam again because I passed.

	3.
	I could answer all the questions but I wasn´t fast enough.

	4.
	John had to study hard for the test because he didn´t want to fail.

	5.
	You should go and see the film – it´s great!

	6.
	They shouldn´t drink so much Coke – 2 litres a day are too much!


English translation:
	1.
	

	2.
	

	3.
	

	4.
	

	5.
	

	6.
	


Czech translation:
	1.
	

	2.
	

	3.
	

	4.
	

	5.
	

	6.
	


Running dictation - modals  - řešení

1. Pupils get in pairs. 

2. One runs around the class, chooses one of the sentences and runs back to the partner to dictate him/her the sentence as long as the sentence is written down in full  on the given sheet of paper.

3. Pupils take turns in writing and running.

4. After the pupils have put down all the sentences, they start to translate them in Czech.

5. The activity finishes after the first three pairs have finished the translation.

1. Žáci pracují ve dvojicích.

2. Jeden z nich běhá, vybere si větu vyvěšenou kdekoliv ve třídě a  diktuje ji tomu, co ji zapisuje pod daným číslem na pracovní list.

3. Žáci se v běhání a psaní střídají.

4. Když mají všechny věty, začnou je překládat.

5. Aktivita končí, když první 3 dvojice mají hotový překlad.

	1.
	Sarah couldn´t go swimming on Saturday because she went to her grandparents´.
Sára nemohla jít v sobotu do bazénu, protože jela k prarodičům.

	2.
	I didn´t have to revise for the exam again because I passed.
Už jsem se nemusela na tu zkoušku znova učit, protože jsem ji udělala.

	3.
	I could answer all the questions but I wasn´t fast enough.
Věděl jsem všechny otázky, ale nebyl jsem dost rychlý.

	4.
	John had to study hard for the test because he didn´t want to fail.
John se musel na ten test tvrdě učit,protože nechtěl neuspět.

	5.
	You should go and see the film – it´s great!
Měla bys jít na ten film – je skvělý!

	6.
	They shouldn´t drink so much Coke – 2 litres a day are too much!
Neměli by pít tolik koly – 2 litry denně je moc!


Aktivita je postavená na slovní zásobě a gramatice učebnice Project 4, the third edition, Unit 1 – models. Trvá asi 20 minut.
[image: image1.png]